i =[F] =2 s = = [F AT
l/—’57—9:17— I\itéf) FIEM éff%;;? ;\f) PIEESE 1 sk B3R > 4 — | PIBESE 2 iisteimeiB 0> 5 | PIEISE 3 isimIEsTiB >4~ | PIEISE 4 Mis@iETiB T 5 | PIEISE SibisaIEsRiB > - w1 Nq?i; 20 ;6}_(;&@?_)
1(1 HEEEERFIE 84.2% 86.9% 89.5% 89.5% 94.7% 89.5% 89.5% 90.5% 91.3%
2|2-(1) feEtEssEiE 83.3% 87.5% 83.3% 83.3% 83.3% 83.3% 83.3% 83.3% 93.4%
3|2-(2) HEFIEE 100.0% 91.1% 100.0% 100.0% 100.0% 60.0% 100.0% 92.0% 92.8%
4(2-(3) SHEN - HRIT T PNR DA N2 83.3% 72.7% 100.0% 100.0% 100.0% 83.3% 100.0% 96.7% 85.5%
5|2-(4) TV =E 53.8% 70.3% 100.0% 88.9% 100.0% 77.8% 88.9% 91.1% 87.0%
6|2-(5) MEFHTTIRIA N TETFIHIR 100.0% 72.7% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 83.9%
7|3 EBXRhEE (HERERENEHE) 100.0% 86.9% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 90.2%

2-(1) B ETEEi=E

—(3) RITH- MY PR TA
U

FIESR4tE e E X EE 57—

1 HR R E S
100.0%

EAF/EED PAE 1 i @ IE B 2 —
11 BREE A% O
100,08 1 éﬂof;tﬁ Sl
73 FRMLEMLEEER e s e e =
g 2 2-(1) REHXIE 3 FEEEHARERENE
=7 ) 60.0%
40 0%
20 .0%
62-<5>hf§%§;“ﬁw’;§;9">‘> 32-(2) HERIGERE  2-(5) MEEFREI VRNV ‘ ,
) 1 BT ~ ‘
S\
s 4 2-(3) EIE- HIEMT TR
52-(4) HETT7RE A B 2(4) T AR
—MEm — P E 1 g EET - — P S 2 iz T} —PgE T — P 1 Hhis S i —
— P EE M AEREL VY- —FIEF4EaEXErTV Y- —FEESHEE]
PRSIt AR IEE 42—
1 BB
100.0%
3 EREE(HARETESE - o 3 FEEE(HLEERESE
40 0%
20 0%
2-(5) S-EEFBETFIR AL+ l ' TR 2—(5) m%_zg%ggww-
o= ﬂgz

TrEETIE

N\a%

2-4) 7=

—fiE —FIE RS R IE T BT A —

P

—(3) BT MR YT PR UA

—FIE

2-(4) HhiEr V=

— P E AR B 1B R R —

2-(B) T TR IAS-

2-1) MEtREE

—(3) BFEE- YT R A

VR

FIES2thiE e EXEr 57—

1 REEhE S T

3 FREEHRERESE

)

BT E

—FiEH

1000%

[ELEZ]
&H2—D

2-(1) ETEEZE

—

2-(4) HiErV=E

— P E o B I E T A —

VhEE

—(3) 2RFER)- MR PRI

RS a Azt 57—

3 EREHHERERR

NEX)

2-(5) NEFIHTTIRIAY
MNEFHXIE

2-(4) TP RE

—MEM

"‘-%e‘\\\

S

— FEFo g BE RS-

1 ARBEERSF
100.0%

)0

s o
60.0%

40.0%

20.0%

N\

-(3) ELIEH - TR T 7 IR
IrAVXEE

e

2-(1) MAEMAXIE

2-(2) ¥EFHERE




